usl*CurMon:Entry$
5
o
=
= - 3 Iy
O B ? a8
® 1 T ¢ £ B
= 4% : 1
3k | ¢ - ]
lnr. ||||||||I ] ||||||||||II|I
) 0 100 200 50 300 350
Entry$

run5965 000 maindet usl.png

x10°

usl*CurMon {ErrorFlag==0}

14000
i Entries 253257
12000
i Mean 4 57
10000
- Std Dev  0.01744
8000 —
6000 —
4000~
2000
D B ] ] | ] ] ] | J ] | ] | ]
4.45 45 455 4.6 4.65

usl*CurMon

asym_usl/ppm:pattern_number {ErrorFlag==0}

6000 —

e
b %
4000 T %g 27

5
b
| =
{

| R

{ %
{

| W
e

2000

-]
==
i1
7 1
I
I
I
1
I
o7 1
[ 7 1
I
| I
I
1 1
I I
I
I I
I I
71
7 1
1
I
I
N
|
[ 1
I
I
I I
1
o1
[ T 1
1

_2000 -
4000 frz T RTINS TN KKK
7 o e et et et " et
e et et oA
| e it
—6000 —
: 5
_BDDD_IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII
0 100002000030000400005000060000700008000090000

pattern_number

asym_ usl

= Entries 62835
1200
Mean 1.481
1000 otd Dev 1229
Underflow 664
800
Overflow 713

600

400

200

3000 2000
ppm

—-1000 0 1000 2000 3000




dsl*CurMon:Entry$

=
o
= "
| — .:--:
=
7] i
¥
g
g
T
T
T
T
-
AL
T
]
T
9L ¥
Ak T
Ak T
gk
7] Ak
T
d
LY “
ik
Ak A
15 Ak
] Ak
AR )
] ]
2] AL
4K Ak
] A
K Ak
T
<] ]
A Ak
Ak A
) ol
] Ak
; 2
)
qK Ak
UK Ak
T e

50 100 150

HE
A,
i1
A
A
Ak
L=

A
Ak

a3
i

AE
d
AE
]
AE
AE
)
AE

T
)
Ak
A
Ak

A
A
]
T

L

ey "] 7~ VeI

200

Ty
1K,
1K
1K,
1K
15

L1
iE
i

EL
i

1K
iE
iE

[y =

250 300

run5965 000 maindet dsl.png

350
Entry$

x10°

10000

8000

6000

4000

2000

dsl*CurMon {ErrorFlag==0}

evtlree
Entries 253257
Mean -3.677

Std Dev  0.01101

-3.64 -3.62
dsl*CurMon

asym_dsl/ppm:pattern_number {ErrorFlag==0}

1500
. % s s
| X s
B X Hxx e
- % X XK X s XX
1000, 2 x XxExXXT  HKXX S HHH W
(XX TP XTSRS R E X0
500 -
500
—1000 =< x§%xxx§xxg K KKK %é %xxx KK
bos T T NG Mk xk % %
x kx Mo X M
- s %
- s
. X%
_15DD_IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII
0 100002000030000400005000060000700008000090000

pattern_number

asym_dsl

5000 Entries 62835

i Mean ~1.071
4000 otd Dev 317.3

i Underflow 0
3000 Overflow 0
2000
1000 —

D ] | I | I 1 1 | I I | |_ I I I 1 1 | | I |
—3000 2000 —1000 0 1000 2000 3000
ppm




usr*CurMon:Entry$

-

S

155

©
y gl "||||||||||||
J 0 100 50 300 350
Entry$

run5965 000 maindet usr.png

x10°

18000

16000

14000

12000

10000

8000

6000

4000

2000

usr*CurMon {ErrorFlag==0}

evilree

Entries 253257

Mean 4712

Std Dev  0.02547

l | l
485 49 495

usr*CurMon

asym_usr/ppm:pattern_number {ErrorFlag==0}

10000

BT T 1

| =0

T et et
x| Ty :x :x: 3%
5000
5000
vl kot Sotviviviusell Il Ilvivtet o8 3 4 l Eviivintes: Sobotely:
g e - et LA L
B et Koo et ® et e Hox
| e e
10000 ~ * ~
15000 o
_I L 11 | L1 11 | L1 11 | L1 11 | L1 11 | L1 11 | L1 11 | L1 11 | L1 11
0 100002000030000400005000060000700008000090000

pattern_number

700

600

500

400

300

-3000

asym_usr
Entries 62835
Mean —-1.1486
otd Dev 1531
Underflow 5629
Overflow 5492
I
_IIII|IIII|IIII|IIII|IIII|IIII
2000 1000 1000 2000 3000
ppm




dsr*CurMon:Entry$

= e
=
=
e )
=2 A
2 _0.5
.I— ' H
oy
O

run5965 000 maindet dsr.png

:
: .
* . ;
¥ f II
& i
¥ i
X 1K
£ 1 : i
1 T -1:- AL
AE o 8 1K
¥ 4 e g
Ak 2]
" i ] .
:: ;’ :h i
AE o i 1K
25 L HE 5
v 0 s e
f t ok
A R d i
2] 7] 7] =i
':F AL b :“
T ] : i
: : F
& T s
¥ 1 f i
d AE A ...
] L
: i Ef
AE A R 1K
i ¥ 1 i
7 i [ & 1T; ) )
- — bl | .. ol Nl L - ] | ]
Entry$

x10°

dsr*CurMon {ErrorFlag==0}

10000 —

8000 —

6000 —

4000 —

2000 —

Dlll

evilree

Entries 253257

Mean -3.638

otd Dev  0.01425

-3.7

-3.68

-3.66

-3.64

-3.62

-3.6 -3.58 -3.56

dsr*CurMon

asym_dsr/ppm:pattern_number {ErrorFlag==0}

2000

B *

5 X
1500_ e L ot K )

K MM et oM S Mo MK

% O S H HO MUK ot K

L S D R R B B O B B U U
1000FTT  TTTTTTTTTS- ~TTTTTTTTTTITTTTITTT)
500 -

| 'ﬁﬁ' e

=500
—to00fLl  LLfllselel LD LELADIIITIIddTd11]
Rk KR x%xgxx KK X xxéxxxxxxxgé
5 HoOH MK X xxxgggﬁ * %X
EE S S S S N S S W kX
_1500 XU Mo ek D X
L b
_EDDD_IlllllllllllII|IIII|IIII|IIII|IIII|IIII|IIII
0 100002000030000400005000060000700008000090000

pattern_number

asym_dsr
- Entries 62835
4000
N Mean 3.553
3500
N Std Dev 381.5
3000 - Underflow 0
2500 :— Overflow 0
2000
1500
1000
500
D : L1 1 1 | L1 1 I | | I N I | | | | L1 1 1
-3000 -2000 -1000 0 1000 2000 3000
PPmM




0.0322

0.032

0.0316 e .-'=:.'._'.

0.0314

0.0312

0.031

yield usl:pattern_number {ErrorFlag==0}

.E_'-.':_'r- L |-|-_l:.|' S |
I'.H'. .II .

[ T T 1 | 1T 1 |'I.--

100002000030000400005000060000700008000090000

pattern_number

run5965 000 pairTree usl.png

9000

8000

7000

6000

5000

4000

3000

2000

1000

yield_usl {ErrorFlag==0}

_LIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

htemp

Entries 125690

Mean 0.0317

Std Dev  7.7e-05

8

0.0312 0.0314 0.0316 0.0318 0.032 0.0322
yield usl

10000

5000

-5000

10000

asym_usl/ppm:pattern_number {ErrorFlag==0}

B .

3 WM 3

B WA M 5% WO 5
| SO SIS S 3 X B 55
50 %xxxxxxxxxx ﬁxxxé xxxxxxxxxgxx

| s MOOOOOGOENE OOOOCO0 303050 X000 K
WO OO0 R O T S0k
_ x % % oo X 3
® ®OH ®
- g b
[ 4
N ®
_III|IIII|IIII| I|II| |IIII|IIII|IIII
100002000030000400005000060000700008000090000

pattern_number

6000

5000

4000

3000

2000

1000

asym_usl/ppm {ErrorFlag==0}

PairTree
Entries 125680
Mean 3.783

otd Dev 1859

l
-10000

l l
5000 10000
asym_usl/ppm

l
-5000 0



yield_dsl:pattern_number {ErrorFlag==

-_T-_-I-| T T | T 11

H . .
¥
| 11 | L 111 | L 111 | L1111 | L 111 | L1 11 | L1111 | L1 L | L 111

100002000030000400005000060000700008000090000
pattern_number

run5965 000 pairTree dsl.png

5000

4000

3000

2000

1000

0

yield_dsl {ErrorFlag==0}

htemp

Entries 125690

Mean —0.02551

Std Dev 4.588e—05

-0.0250.02568.0 i—:rﬂ 255 .0259.02

a# 025380.0253
yield dsl

3000

2000

1000 =4

-1000

-2000

-3000

-
=k |

asym_dsl/ppm:pattern_number {ErrorFlag==0}

i | VLI
[iN]
[iN]

(1]
(K
(1]
1]
LT
']
Ll
(K]
(K]
K
7
Lb
1]
(K
i
[l i]
[}
[l i1
i3
[l 1]
i
i
[l 1]
i
il
[l 1]
i
[l i]
i ]
i
il

)~
= —
D_
D_
M~
L )
= —
D_
D_
LJ —
D_

0000700008000090000
pattern_number

3500

3000

2500

2000

1500

1000

200

asym_dsl/ppm {ErrorFlag==0}

PairTree

Entries 125690

Mean —-1.063

otd Dev 1025

-3000 -2000

-1000

2000 3000

asym_dsl/ppm




yield usr:pattern_number {ErrorFlag==0}

0.0336

0.0334

0.0332

-I'-II|III|III|I

0.0328 B

0.0326 9N
0.0324 [+
0.0322

0.032

100002000030000400005000060000700008000090000
pattern_number

run5965 000 pairTree usr.png

8000

7000

6000

5000

4000

3000

2000

1000

yield_usr {ErrorFlag==0}

htemp

Entries 125690

Mean 0.03269

Std Dev  0.0001232

D_
=

80.0330.033D.0334.0336

yield usr

20000

15000

10000

5000

-5000

10000

15000

20000

25000

30000

asym_usr/ppm:pattern_number {ErrorFlag==0}

%

a0

XX MUV

I " W

: :K:

[ ot

2 x

3 .

L | L1 11 | L1 11 | L1 11 | L1 11 | L1 11 | L1 11 | L1 11 | L1 11

0 100002000030000400005000060000700008000090000

pattern_number

9000
8000
7000
6000
5000
4000
3000
2000

1000

3

asym_usr/ppm {ErrorFlag==0}

PairTree

Entries 125690

Mean —-8.724

otd Dev 2853

0000

l
-20000 -1 DDDD 10000 20000

asym_usr/ppm




yield_dsr:pattern_number {ErrorFlag==0} yield_dsr {ErrorFlag==0} asym_dsr/ppm:pattern_number {ErrorFlag==0} asym_dsr/ppm {ErrorFlag==0}

0.0249 - h — ‘
: : temp 2500 : PairTree
B - - X 5000—
4000 . o y -
: B i EUDD%}{}; SRR X S e - i
_0.025— - Entries 125690 C L 5 s Do 8w Twew ST i Entries 125690
) | 3500— gﬁg g‘}{}{}{}{ HXK SR RO }{2}{}{}{}{}{}{2}{}{}{
i - 1500 peei A HARIIIN | HA XK HHELT R A AN A X I
- 3000 - Mean  —0.02524 : T 40001~ Mean 3.515
0.0251 - 1000 - :
i 2500 Std Dev 7.8590-05 500[- onal- Std Dev 5226
0.0252} - : :
E 500 f- 2000
0.0253 15001 ! i
- ~1000f+ I
1000 LLLLjLL)L ~ LIl Lllp|L))(d -
0.0254 1% - 150055 G EEEEE ot I oad 10001
: - - I S S S S S S S 1S S S S 1 S O
500— - T O ox X O OO R -
B 2000 — HX ot X K HoX HoOMH X i |
_ B - O O b i
IIil|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII D_IlllI|IIII|IIII|IIII|III L.l 1| | _IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII DIIl'.IIlIIIIlIIIIlII||III
100002000030000400005000060000700008000090000 —0.0255 -0.0254 -0.0253 -0.0252 -0.0251 -0.025 -0.0249 0 100002000030000400005000060000700008000090000 —2000 -1000 0 1000 2000
pattern_number yield_dsr pattern_number asym_dsr/ppm

run5965 000 pairTree dsr.png



asym_usl

asym_dsl

asym_usr

asym_dsr

rund965 000 asy

asym_usl

0.006

—60(
0.004

—50(

0.002

-0.002

-0.004

-0.006
[

11 1 I 11 1 I 11 1 I 11 1 I 11 1 I 11 1 I 11 1 I
-0.00 0
—DB.I'_'IEI'E —0.006 -0.004 -0.002 0O 0.002 0.004 0.006

asym_usl

- — _170¢
7.0015—

I —s0c
0.001

- —50¢
7.0005—

0l

- m
).0005
—0.001—

B u
]LD[}AIE_I||IIIIIIIIIIIIIIIIIIIIIIIII D

—-0.008 -0.006 -0.004 -0.002 O 0.002 0.004 0.008

asym_usl

0.01F
- _soc
0.005— —[70¢
B —80¢
D_
- [ |
0.005—
_0.01
0.015— -
i | || I | | | I | | | I | || I | | | I | | | I | || I D

—-0.008 -0.006 -0.004 -0.002 O 0.002 0.004 0.006

asym_usl

n.nn)_f =
- —{70
0.0015
- {60t
0.001
- —{50(
0.0005F
N 40(
O
-
3.0005 - S0C
-0.001F 20
).0015 10(
—D.ﬂﬂ [ 11 1 I 11 1 I 11 1 I 11 1 I 11 1 I 11 1 I 11 1 I

m maindet mutu

asym_dsl

0.006 —70¢
B u
0.004— _lg0C
0.002— —50¢
ol
- W
_0.002|-
_0.004|—
i Sl
_0.006— 10¢
i M
—D.Dﬂ _IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII D
080015 —0.001 -0.0005 0 _ 0.0005 0001 0.0015
asym_dsl
2.0015 _lgoc
0.001 .
1.0005— a0
O 30
2.0005 p0c
-0.001 Joc
:LDG‘IE—IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII D
—0.0015 —0.001 —0.0005 0  0.0005 0.001 0.0015
asym_ds|
0.01 —(80¢
i {70
0.005
i —lB0¢
o 50(
- 40(
-0.005—
| 30(
—0.01 20¢
B 10¢
_0.015— =
_IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII D
—0.0015 —0.001 —0.0005 0  0.0005 0.001 0.0015
asym_dsl
n.nn)_f —
).0015 _lgot
0.001F
- —50¢
1.0005
: 40(
0
- 30(
).0005
- 200
~0.001F
2.0015F 10¢
_Dlﬂﬂ%_IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII D

al correlationiC

0.006|—
i —80¢
N |
0.004 1 200
0.002— —lg0r
oL 50(
B 40¢
_0.002—
. 30(
~0.004—
i 20(
_0.006/—
- . 10¢
—D.DGE i | I | | | 1 I 1 | | | I | | | | I | | | | I 1 1 1 | I D
—0.015 -0.01 —-0.005 0 0.005 0.0
asym_usr
- — —80¢
1.0015—
- —{70¢
0.001—
- —ls0¢
2.0005 SOt
o m 400
- 30(
7.0005—
n 20(
—0.001—
N 10¢
1.0015
| I L1 1 | I | L1 1 I | L1 1 I L1 L1 I | I | | I D
—0.015 -0.01 —-0.005 0 0.005 0.0
asym_usr
0.01—
i —{70¢
0.0051- o
. —I50¢
D |
| 40€
_0.005—
- 300
.01 20¢
- 10¢
_0.015 m
i | I L1 1 1 I 1 L1 1 I | L1 1 I 11 11 I | I | | I D
—0.015 -0.01 -0.005 0 0.005  0.01
asym_usr
D.D{}y —
- —80¢
1.0015 - oc
0.001 - o
).0005F 500
0 R
- 40(
1.0005 20(
~0.001F 20¢
1.0015 N 100
- B
—D.GGE B | I L1 1 1 I 1 L1 1 I | L1 1 I 11 11 I | I | | I

ot -0.01 -0.005 0 0.005 0.01
I IJ ]] asym_usr
. g

asym_dsr

0.006

—70C

0.004 o

0.002

— 50(

-0.002

-0.004

-0.006
|

_D.D%E IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
—-0.002-0.0015-0.001-0.0005 0 0.0005 0.001 0.0015 0.002

asym_dsr

asym_dsr

J.0015

— 60

0.001
— 50

J.0005

J.0005

-0.001

=
T T 11 T T 11 T T 11 T T 11 L T T 171 T
I I I I I I I

|
:LDG‘IEIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

—0.002-0.0015-0.00%+0.0005 0 0.0005 0.001 0.0015 D.002
asym_dsr

asym_dsr

0.01 —80C

—70C

0.005
—60(

-0.005

-0.01

-0.015

—0.002-0.0015-0.00%+0.0005 0 0.0005 0.001 0.0015 0.002
asym_dsr

n.nn)_f =

0 —{B0¢
0.0015
0.001 —150¢

O

n 30¢
1.0005

- 200
~0.001F

- 10¢
0.0015
—D.ﬂ _I 1 11 I 1111 I 1111 I 1 111 I 1 11 1 I 1111 I 1111 I 1111

02002.0.0015-0.001.0.0005 © _ 0.0005 0.0071 0.0015 0.002

asym_dsr



asym_usl

asym_dsl

asym_usr

asym_dsr

rund965 000 asy

2/ ndf 5101 /35 - 0 D:JE:— - %2/ ndf 48.32 | 36 %2 | ndf 19.17 / 29 ¥/ ndf 43.42 [ 35
- p0 3.866e-06 + 5.388e-06 pO0 3.978e-06 + 5.369e-06 pO0 3.938e-06 + 5.399e—06
p0  —4.046e-07 + 1.698e-07 30015
- N p1 —0.05697 + 0.01930 p1 0.05536 £ 0.00274 p1 0.03239+ 0.01617
P 0.9982 + 0.0001 0.001F Cor factor ~0.0133 Cor factor 0.0917 Cor factor 0.0079
o .0008 + x : “ -
I B 0.001F of | H%%vﬁ#ﬁﬁﬂ}
I C | {H | { - } H I 1l 4 TR _
i 5 + , - i R i |
-0.002- g ! #{} O T Jﬁﬁ | o t /M“HJ[ - _
I = - : “ - { | - )} S 1 7.0005
. = 2.0008 - ||| ll 0,001 } { - B}
~0.004 - - J[ -0.001 - i
I = —0.007~ -0.002F ~0.001
-0.006 |- - - -
[ - 2.0015 - - o - - -
III|III|III|III|III|III|III| _IllIIIIIIIIlIIIIIIIIIlIIIIlIIIIlI _DLDGS—II|IIII|IIII|IIII|IIII|IIII|I jlﬂﬂ15—|-lllllllI|IIII|IIII|IIII|IIII|IIII|IIII|
~0.008 —0.006 —0.004 -0.002 0 0.002 0.004 0.006 ~0.0015 -0.001 -0.0005 0  0.0005 0.001 0.0015 -0.015 -0.01 -0.005 O 0.005  0.01 ~0.002-0.0015-0.00+-0.0005 0 0.0005 0.0010.0015 0.002
0 4:_ - }';2 ¢ naf 49.02 /35 IE ! ndf 15.08 / 36 - B IE £ ndi 3211/29 D.‘":_ }‘;2 ¢/ naf 48.37 /35
n : 0.6 -
0.3 p0 ~1.186e—06 + 1.293e-06 - p0 1.359e-06 + 1.202e-06 - pO0 ~1.332e-06 + 1.295e-06
- p0  3.39e-08 + 3.94e-08 - 0.3
0 2: p1 —0.00291 + 0.00111 e B p1 —0.00074964 + 0.0006547 B p1 —0.003837 + 0.003848
e - 0.4 -
- - 0.2
- }[ Cor factor -0.0133 p1 0.99911 0.0001 B Cor factor —-0.0035 B Cor factor -0.0037
D1_— [ T = B B
- : - - 0.2 -
O h {Wﬁ*“ﬂ%ﬂ 1 o i - | ﬁ # _
E i : - ' oF st 1 |-
- 2.0005 0 - ! { H+""'T““""’*“’““‘#*“H%+ {*H}M —0.4F
-0.2F - ) - } -
- Z = ; -0.2
-0.3F = n
. -0.001- —0.2- n
—0.4F C 7 I | 0.3
:III|III|III|III|III|III|III| j.ﬂﬂ15:l_|l_lllllllllIIIIIIIIIlIIIIlIIII|I _II|IIII|IIII|IIII|IIII|IIII|I :IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|
~0.008 —0.006 —0.004 -0.002 0 0.002 0.004 0.006 ~0.0015 -0.001 -0.0005 0  0.0005 0.001 0.0015 -0.015 -0.01 -0.005 O 0.005  0.01 ~0.002-0.0015-0.00+0.0005 0 0.0005 0.0010.0015 0.002
¥2 | ndf 38.3/35 0.003 ¥2 { ndf 48.56 / 36 %2 { ndf 16.04 / 29 - i ¥ =/ ndf 45.98 / 35
pO0 ~9.851e-06 + 9.029e-06 || - n pO0 ~1.113e-05 + 9.075e—06 0.002 pO0 ~7.04e 06 + 9.09e —06
0.002- p0  4.375e-07 + 3.403e-07 B
p1 01537 = 0.0077 -H{} B p1 —0.01305 = 0.03247 a i p1 —0.0746 £ 0.0271
Cor factor 0.0917 it }H}l | 0007y { Cor factor ~0.0035 p1 0.9387 £ 0.0002 0.001 Cor factor ~0.0117
L ' . ] 0F= :
- u 0 k Jfltﬂ{fj'ﬁ*#ﬂ%ﬂnw*ﬂ*m:ﬂ% Jr]LH }l : | - - -
: } HH : + - oF MM%“ iB
—0.001F T - ; | FTFE ﬂ I
i 0001 - -0.005 & i }
0.002 _ -0.002 - e ~0.001
N ) - ~0.01 d -
_ -0.003 | _
-0.003 n - -0.002-

B _0.004 -0.015 _ B - _
_III|III|III|III|III|III|III| _I|IIII|IIII|IIIIIIIIIlIIIIlIIIIlI _II|IIII|IIII|IIII|IIII|IIII|I _IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|
-0.008 —0.006 —0.004 -0.002 0 0.002 0.004 0.006 ~0.0015 -0.001 -0.0005 0  0.0005 0.001 0.0015 -0.015 -0.01 -0.005 O 0.005  0.01 ~0.002-0.0015-0.00+-0.0005 0 0.0005 0.0010.0015 0.002
%2 | ndf 29.27 /35 - 2 | ndf 40.28 / 36 0.6~ ¥2 i ndf 26.59 / 29 - htel I Ip

0.4 - N
pO0 3.3842-06 + 1.556e—06 - pO0 3.848e-06 + 1.557e-06 i pO0 4.025e-06 + 1.5556-06 2.0015 - Entries 62835
- - 0.4 -
p1 0.003029 + 0.001330 ] B p1 —0.01129 + 0.00554 N p1 —0.002655 + 0.000790 0.001 [
0.2 i T | Mean  3.553e-06
Cor factor 0.0079 { | B _ Cor factor —-0.0037 - Cor factor -0.0117 B
“F T iﬂT"‘F"'Fﬁ’T“"”' o ”ﬁw | L] J{ | I ‘ | ‘ ber ' 2.0005 Meany 3553¢-08
- - $ ' - - "
-0.1F | o 7 H{WW%HHM ) I - :
- |- J[ - } J[ T 0 Std Dev 0.0003815
_02F - - | or i {W e |+H -
: B | }l 1.0005— Std Dev y0.0003815
0.3 -0.2— | - { -
- - —0.2|- _ -
0.4 - - | -0.001— =
- —0.41- I '
~0.5F ; i 04 D.0015F =~
:III|III|III|III|III|III|III| _I|IIII|IIII|IIIIIIIIIlIIIIlIIIIlI _II|IIII|IIII|IIII|IIII|IIII|I :Ill_lllllI|IIII|IIII|IIII|IIII|IIII|IIII|
~0.0015 -0.001 —0.0005 0.0015 -0.015 -0.01 -0.005 O 0.005  0.01 ~0.002-0.0015-0.00+-0.0005 0 0.0005 0.0010.0015 0.002

5008 —0.006 —0.0@g —0.002
m maind

et mutual corre

lation-fit.p

ng



asym_usl asym_dsl asym_usr asym_dsr

0.006|— 0.006|— 0.006|— 0.006|—
0.004— 0.004— 0.004— 0.004—
0.0021— 0.002— 0.002— 0.002—
EI_— D_— D_— D_— _"
asym USl _0.002|- _0.002|- _0.002|- _0.002|-
— i i i i
-0.004 - -0.004- | -0.004- -0.004-
0.006— | _0.006— | _0.006— | _0.006—
—D.Dﬂ _III|III|III|III|III|III|III| _Dlﬂﬂ_lIIII|IIII|IIII|IIII|IIIIIIIII|I _DLDGE_IlIIIIIIIII|IIII|IIII|IIII| _DDE_IlllllllllllII|IIII|IIII|IIII|IIIIIIIII
¥ 008 —0.006 —0.004 —0.002 0 0002 0.004 0.006 080015 —0.001 -0.0005 0 _ 0.0005 0001 0.0015 —0.015 -0.01 —-0.005 0 0.005 0.0 0 002.0.0015-0.00+0.0005 0 0.0005 0.001 0.0015 0.002
asym_usl asym_dsl asym_usr asym_dsr
1.0015— 1.0015— 1.0015— 1.0015—
B B - B B
0.001— 0.001— 0.001— 0.001—
1.0005— 1.0005— 1.0005— 1.0005—
] l EI_— D_— D_— D_— i
1 — ).0005 — 7.0005— 7.0005— 7.0005—
—0.001 —0.001 —0.001 —0.001
: : _,-*" : :
).0015 2.0015 1.0015 1.0015
III|III|III|III|III|III|III| —|IIII|IIII|IIII|IIII|IIII|IIII|I I|IIII|IIII|IIII|IIII|IIII| IIII|IIIIIIIII|IIII|IIII|IIII|IIIIIIIII
—0.008 —0.006 —0.004 —0.002 0 0.002 0.004 0.006 —0.0015 —0.001 —0.0005 0  0.0005 0.001 0.0015 —0.015 -0.01 —-0.005 0 0.005 0.0 —0.002-0.0015-0.00+-0.0005 0 0.0005 0.001 0.0015 0.002
asym_usl asym_dsl asym_usr asym_dsr
0.01— | 0.01— | 0.01— | 0.01—
0.005— 0.005— 0.005— 0.005— |
0 0 0 0
asym usr 0.005— _0.005/— _0.005/— _0.005/—
— o o . o o
_0.01— | B _0.01— = o _0.01— ; _0.01—
0.015— | 0.015— | 0.015 0.015—
_III|III|III|III|III|III|III| _lllII|IIII|IIII|IIII|IIII|IIII|I _I|IIII|IIII|IIII|IIII|IIII| _IIII|IIIIIIIII|IIII|IIII|IIII|IIIIIIIII
—0.008 —0.006 —0.004 —0.002 0 0.002 0.004 0.006 —0.0015 —0.001 —0.0005 0  0.0005 0.001 0.0015 —0.015 -0.01 -0.005 0 0.005  0.01 —0.002-0.0015-0.00+-0.0005 0 0.0005 0.001 0.0015 0.002
asym_usl asym_dsl asym_usr asym_dsr
0 nn)_f 0 r_m)_( 0 r_m)_[ 0 r_m)_[
).0015 ).0015 ).0015 ).0015
B _ B B B e
0.001 0.001 0.001 0.001
1.0005 1.0005 1.0005 1.0005
0 0 0 0
as } m_dsr ).0005 - ).0005 2.0005 ).0005
-0.001F -0.001F ~0.001F _ -0.001F
- - ; - 7 - S
).0015 2.0015F 2.0015F 2.0016F -
_Dﬂﬂ _III|III II| _Dﬂﬂ_llllllll L1 1 IIII|IIII|IIII|I _DGGE_IllllIIIIIIlIIIIlIIIIlIIIIl —D.ﬂ _IIII|IIIIIIIII|IIII|IIII|IIII|IIIIIIIII
59 5 OOO 008 —0.006 —0. my 0. n 0 D{}E 0. nm 0.006 l 080075 —0.001 -0. n::mE 1 005 0.001 0. D{HE —0.015 -0.01 -0.005 0 0.005  0.01 0P 002.0.0015.0.0010.0005 0  0.0005 0.001 0.0015 0.002
runs96 asym malndet mutual correlation=scat.png




